
CHEMISTRY

BOOKS - U-LIKE CHEMISTRY (HINGLISH)

PERIODIC CLASSIFICATION OF

ELEMENTS

N C E R T Questions

1. Did Döbereiner's triads also exist in the

columns of Newlands' Octaves? Compare and

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_m1JLGLvwE9Dl


find out.

View Text Solution

2. What were the limitations of Döbereiner's

classification?

View Text Solution

3. What were the limitations of Newlands' Law of

Octaves?

View Text Solution

https://dl.doubtnut.com/l/_m1JLGLvwE9Dl
https://dl.doubtnut.com/l/_YBWPew56QllH
https://dl.doubtnut.com/l/_PpbdpPEKPSIs


4. Use Mendeleev's Periodic Table to predict the

formulae for the oxides of the following

elements : 

.

View Text Solution

K, C, AI, Si, Ba

5. Besides gallium, which other elements have

since been discovered that were left by

Mendeleev in his Periodic Table ? (Any two)

View Text Solution

https://dl.doubtnut.com/l/_PpbdpPEKPSIs
https://dl.doubtnut.com/l/_GRJE6Y9AjRoW
https://dl.doubtnut.com/l/_eCRFkxXENbUS


6. What were the criteria used by Mendeleev in

creating his Periodic Table ?

View Text Solution

7. Why do you think the noble gases are placed in

a separate group ?

View Text Solution

https://dl.doubtnut.com/l/_eCRFkxXENbUS
https://dl.doubtnut.com/l/_kWAULAwjS0oI
https://dl.doubtnut.com/l/_Nf3gIawJ71VQ


8. How could the Modem Periodic Table remove

various anomalies of Mendeleev's Periodic Table?

View Text Solution

9. Name two elements you would expect to show

chemical reactions similar to magnesium. What

is the basis for your choice ?

View Text Solution

https://dl.doubtnut.com/l/_zDgar8U11jwC
https://dl.doubtnut.com/l/_c4CUj5XZvHoL


10. Name 

(a) three elements that have a single electron in

their outermost shells. 

(b) two elements that have two electrons in their

outermost shells. 

(c) three elements with filled outermost shells.

View Text Solution

11. (a) Lithium, sodium and potassium are all

metals that react with water to liberate

hydrogen gas. Is there any similarity in the atoms

https://dl.doubtnut.com/l/_ZYuVWNyqqtxv
https://dl.doubtnut.com/l/_3Up1U3kleF3S


of these elements ? 

(b) Helium is an unreactive gas and neon is a gas

of extremely low reactivity. What, if anything, do

their atoms have in common ?

View Text Solution

12. In the Modem Periodic Table, which are the

metals among the first ten elements ?

View Text Solution

https://dl.doubtnut.com/l/_3Up1U3kleF3S
https://dl.doubtnut.com/l/_uapcP2MPjigS


N C E R T Exercises

13. By considering their position in the Periodic

Table, which one of the following elements would

you expect to have maximum metallic

characteristic ? 

View Text Solution

Ga, Ge, As, Se, Be

1. Which of the following statements is not a

correct statement about the trends when going

https://dl.doubtnut.com/l/_TS0hksDqkGAX
https://dl.doubtnut.com/l/_AK8WrQaXaYEz


from left to right across the periods of Periodic

Table ? 

(a) The elements become less metallic in nature. 

(b) The number of valence electrons increases. 

(c) The atoms lose their electrons more easily. 

(d) The oxides become more acidic.

View Text Solution

2. Element X forms a chloride with the formula

, which is a solid with a high melting point.

X would most likely be in the same group of the

XCI2

https://dl.doubtnut.com/l/_AK8WrQaXaYEz
https://dl.doubtnut.com/l/_okSdjq5E2kF6


Periodic Table as 

(a)  (b)  (c)  (d) 

View Text Solution

Na Mg Al Si

3. Which element has 

(a) two shells, both of which are completely filled

with electrons ? 

(b) the electronic configuration 2, 8, 2? 

(c) a total of three shells, with four electrons in

its valence shell? 

(d) twice as many electrons in its second shell as

in its first shell ?

https://dl.doubtnut.com/l/_okSdjq5E2kF6
https://dl.doubtnut.com/l/_uHJSZo0LmXaX


View Text Solution

4. (a) What property do all elements in the same

column of the Periodic Table as boron have in

common? 

(b) What property do all elements in the same

column of the Periodic Table as fluorine have in

common?

View Text Solution

https://dl.doubtnut.com/l/_uHJSZo0LmXaX
https://dl.doubtnut.com/l/_otKYg2qpOsyR


5. An atom has electronic configuration 2, 8, 7. 

(a) What is the atomic number of this element ? 

(b) To which of the following elements would it

be chemically similar? 

(Atomic numbers are given in parentheses.) 

.

View Text Solution

N(71), F (9), P (15), Ar(18)

6. The position of three elements A, B and C in

the Periodic Table are shown below : 

https://dl.doubtnut.com/l/_49MEGQOUemqV
https://dl.doubtnut.com/l/_npS1hJFBmA8u


 


(a) State whether A is a metal or non-metal. 

(b) State whether C is more reactive or less

reactive than A. 

(c) Will C be larger or smaller in size than B? 

(d) Which type of ion, cation or anion, will be

formed by element A ?

View Text Solution

Group 16 Group 17

− −

− A

− −

B C

https://dl.doubtnut.com/l/_npS1hJFBmA8u


7. Nitrogen (atomic number 7) and phosphorus

(atomic number 15) belong to Group 15 of the

Periodic Table. Write the electronic configuration

of these two elements. Which of these will be

more electronegative ? Why ?

View Text Solution

8. How does the electronic configuration of an

atom relate to its position in the Modern

Periodic Table?

View Text Solution

https://dl.doubtnut.com/l/_aglrfnTSHLB4
https://dl.doubtnut.com/l/_7ad13FUiW2ol


9. In the Modern Periodic Table, calcium (atomic

number 20) is surrounded by elements with

atomic numbers 12, 19, 21 and 38. Which of these

have physical and chemical properties

resembling calcium?

View Text Solution

10. Compare and contrast the arrangement of

elements in Mendeleev's Periodic Table and the

Modern Periodic Table.

https://dl.doubtnut.com/l/_7ad13FUiW2ol
https://dl.doubtnut.com/l/_Cb326k48O78h
https://dl.doubtnut.com/l/_MBhTQqTzwfgo


Case Based Source Based Integrated Questions

View Text Solution

1. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

In 1913, Henry Moseley showed that the atomic

number (symbolised as Z) of an element is a

more fundamental property than its atomic

mass. Accordingly, Mendeleev's Periodic Law was

modified and atomic number was adopted as the

(a) − (d)

https://dl.doubtnut.com/l/_MBhTQqTzwfgo
https://dl.doubtnut.com/l/_rSKs59BaKxWR


basis of Modern Periodic Table and the Modern

Periodic Law can be stated as follows : 

'Properties of elements are a periodic function of

their atomic number.' Let us recall that the

atomic number gives us the number of protons

in the nucleus of an atom and this number

increases by one in going from one element to

the next. Elements, when arranged in order of

increasing atomic number, lead us to the

classification known as the Modern Periodic

Table. Prediction of properties of elements could

be made with more precision when elements

were arranged on the basis of increasing atomic

https://dl.doubtnut.com/l/_rSKs59BaKxWR


number. 

(a) Name the principle on which Mendeleev's

Periodic Table was based.

View Text Solution

2. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

In 1913, Henry Moseley showed that the atomic

number (symbolised as Z) of an element is a

more fundamental property than its atomic

mass. Accordingly, Mendeleev's Periodic Law was

(a) − (d)

https://dl.doubtnut.com/l/_rSKs59BaKxWR
https://dl.doubtnut.com/l/_93zp8Rg8yYWw


modified and atomic number was adopted as the

basis of Modern Periodic Table and the Modern

Periodic Law can be stated as follows : 

'Properties of elements are a periodic function of

their atomic number.' Let us recall that the

atomic number gives us the number of protons

in the nucleus of an atom and this number

increases by one in going from one element to

the next. Elements, when arranged in order of

increasing atomic number, lead us to the

classification known as the Modern Periodic

Table. Prediction of properties of elements could

be made with more precision when elements

https://dl.doubtnut.com/l/_93zp8Rg8yYWw


were arranged on the basis of increasing atomic

number. 

(b) What is Modern Periodic Law ?

View Text Solution

3. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

In 1913, Henry Moseley showed that the atomic

number (symbolised as Z) of an element is a

more fundamental property than its atomic

mass. Accordingly, Mendeleev's Periodic Law was

(a) − (d)

https://dl.doubtnut.com/l/_93zp8Rg8yYWw
https://dl.doubtnut.com/l/_G6Sd2OA8qGmc


modified and atomic number was adopted as the

basis of Modern Periodic Table and the Modern

Periodic Law can be stated as follows : 

'Properties of elements are a periodic function of

their atomic number.' Let us recall that the

atomic number gives us the number of protons

in the nucleus of an atom and this number

increases by one in going from one element to

the next. Elements, when arranged in order of

increasing atomic number, lead us to the

classification known as the Modern Periodic

Table. Prediction of properties of elements could

be made with more precision when elements

https://dl.doubtnut.com/l/_G6Sd2OA8qGmc


were arranged on the basis of increasing atomic

number. 

(c) Differentiate between atomic weight and

atomic number.

View Text Solution

4. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

In 1913, Henry Moseley showed that the atomic

number (symbolised as Z) of an element is a

more fundamental property than its atomic

(a) − (d)

https://dl.doubtnut.com/l/_G6Sd2OA8qGmc
https://dl.doubtnut.com/l/_iRBJA4zlrYED


mass. Accordingly, Mendeleev's Periodic Law was

modified and atomic number was adopted as the

basis of Modern Periodic Table and the Modern

Periodic Law can be stated as follows : 

'Properties of elements are a periodic function of

their atomic number.' Let us recall that the

atomic number gives us the number of protons

in the nucleus of an atom and this number

increases by one in going from one element to

the next. Elements, when arranged in order of

increasing atomic number, lead us to the

classification known as the Modern Periodic

Table. Prediction of properties of elements could

https://dl.doubtnut.com/l/_iRBJA4zlrYED


be made with more precision when elements

were arranged on the basis of increasing atomic

number. 

(d) What are the advantages of Periodic Table

based on Moseley concept ?

View Text Solution

5. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

The Modern Periodic Table has 18 vertical

columns known as 'groups' and 7 horizontal rows

(a) − (d)

https://dl.doubtnut.com/l/_iRBJA4zlrYED
https://dl.doubtnut.com/l/_MkuW1btn7Rmh


known as 'periods'. Let us see what decides the

placing of an element in a certain group and

period. Group 1 of Modern Periodic Table

contains the same number of valence electrons

i.e ., 1. Similarly, you will find that the elements

present in any one group have the same number

of valence electrons. For example, elements

fluorine (F) and chlorine (Cl), belong to Group 17,

and contain seven electrons in their outermost

shells. Hence, we can say that groups in the

Periodic Table signify an identical outer shell

electronic configuration. On the other hand, the

number of shells increases as we go down the

https://dl.doubtnut.com/l/_MkuW1btn7Rmh


group. There is an anomaly when it comes to the

position of hydrogen because it can be placed

either in Group 1 or Group 17 in the first period. 

(a) What names are given to the horizontal rows

and vertical columns in the Periodic Table ?

View Text Solution

6. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

The Modern Periodic Table has 18 vertical

columns known as 'groups' and 7 horizontal rows

(a) − (d)

https://dl.doubtnut.com/l/_MkuW1btn7Rmh
https://dl.doubtnut.com/l/_241YNvmVIPj7


known as 'periods'. Let us see what decides the

placing of an element in a certain group and

period. Group 1 of Modern Periodic Table

contains the same number of valence electrons

i.e ., 1. Similarly, you will find that the elements

present in any one group have the same number

of valence electrons. For example, elements

fluorine (F) and chlorine (Cl), belong to Group 17,

and contain seven electrons in their outermost

shells. Hence, we can say that groups in the

Periodic Table signify an identical outer shell

electronic configuration. On the other hand, the

number of shells increases as we go down the

https://dl.doubtnut.com/l/_241YNvmVIPj7


group. There is an anomaly when it comes to the

position of hydrogen because it can be placed

either in Group 1 or Group 17 in the first period. 

(b) What is the electronic configuration of the

second element in Group 17 ?

View Text Solution

7. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

The Modern Periodic Table has 18 vertical

columns known as 'groups' and 7 horizontal rows

(a) − (d)

https://dl.doubtnut.com/l/_241YNvmVIPj7
https://dl.doubtnut.com/l/_eSzgAVkBcXll


known as 'periods'. Let us see what decides the

placing of an element in a certain group and

period. Group 1 of Modern Periodic Table

contains the same number of valence electrons

i.e ., 1. Similarly, you will find that the elements

present in any one group have the same number

of valence electrons. For example, elements

fluorine (F) and chlorine (Cl), belong to Group 17,

and contain seven electrons in their outermost

shells. Hence, we can say that groups in the

Periodic Table signify an identical outer shell

electronic configuration. On the other hand, the

number of shells increases as we go down the

https://dl.doubtnut.com/l/_eSzgAVkBcXll


group. There is an anomaly when it comes to the

position of hydrogen because it can be placed

either in Group 1 or Group 17 in the first period. 

(c) Name the first element in Group 2 and the

atomic number of this element.

View Text Solution

8. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

The Modern Periodic Table has 18 vertical

columns known as 'groups' and 7 horizontal rows

(a) − (d)

https://dl.doubtnut.com/l/_eSzgAVkBcXll
https://dl.doubtnut.com/l/_tR9nvWmMEEch


known as 'periods'. Let us see what decides the

placing of an element in a certain group and

period. Group 1 of Modern Periodic Table

contains the same number of valence electrons

i.e ., 1. Similarly, you will find that the elements

present in any one group have the same number

of valence electrons. For example, elements

fluorine (F) and chlorine (Cl), belong to Group 17,

and contain seven electrons in their outermost

shells. Hence, we can say that groups in the

Periodic Table signify an identical outer shell

electronic configuration. On the other hand, the

number of shells increases as we go down the

https://dl.doubtnut.com/l/_tR9nvWmMEEch


group. There is an anomaly when it comes to the

position of hydrogen because it can be placed

either in Group 1 or Group 17 in the first period. 

(d) Which position would you give to the

element hydrogen ?

View Text Solution

9. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

You will see that the atomic size increases down

the group. This is because new shells are being

(a) − (d)

https://dl.doubtnut.com/l/_tR9nvWmMEEch
https://dl.doubtnut.com/l/_pzHXSt1S6w5H


added as we go down the group. This increases

the distance between the outermost electrons

and the nucleus so that the atomic size increases

in spite of the increase in nuclear charge. As we

can see, the metals like Na and Mg are towards

the left-hand side of the Periodic Table while the

non-metals like sulphur and chlorine are found

on the right-hand side. In the middle, we have

silicon, which is classified as a semi-metal or

metalloid because it exhibits some properties of

both metals and non-metals. In the Modern

Periodic Table, a zig-zag line separates metals

from non-metals. The borderline elements -

https://dl.doubtnut.com/l/_pzHXSt1S6w5H


boron, silicon, germanium, arsenic, antimony,

tellurium and polonium - are intermediate in

properties and are called metalloids or semi-

metals. 

(a) Arrange the following elements in increasing

order of atomic size : 

oxygen, tellurium, sulphur, selenium.

View Text Solution

10. Answer question numbers  on the

basis of your understanding of the following

paragraph and related studied concepts. 

(a) − (d)

https://dl.doubtnut.com/l/_pzHXSt1S6w5H
https://dl.doubtnut.com/l/_xr1xDonEfvnf


You will see that the atomic size increases down

the group. This is because new shells are being

added as we go down the group. This increases

the distance between the outermost electrons

and the nucleus so that the atomic size increases

in spite of the increase in nuclear charge. As we

can see, the metals like Na and Mg are towards

the left-hand side of the Periodic Table while the

non-metals like sulphur and chlorine are found

on the right-hand side. In the middle, we have

silicon, which is classified as a semi-metal or

metalloid because it exhibits some properties of

both metals and non-metals. In the Modern

https://dl.doubtnut.com/l/_xr1xDonEfvnf


Periodic Table, a zig-zag line separates metals

from non-metals. The borderline elements -

boron, silicon, germanium, arsenic, antimony,

tellurium and polonium - are intermediate in

properties and are called metalloids or semi-

metals. 

(b) Why does the atomic size increase when we

move down the group ?

View Text Solution

11. Answer question numbers  on the

basis of your understanding of the following

(a) − (d)

https://dl.doubtnut.com/l/_xr1xDonEfvnf
https://dl.doubtnut.com/l/_QyrT8Cm38IN7


paragraph and related studied concepts. 

You will see that the atomic size increases down

the group. This is because new shells are being

added as we go down the group. This increases

the distance between the outermost electrons

and the nucleus so that the atomic size increases

in spite of the increase in nuclear charge. As we

can see, the metals like Na and Mg are towards

the left-hand side of the Periodic Table while the

non-metals like sulphur and chlorine are found

on the right-hand side. In the middle, we have

silicon, which is classified as a semi-metal or

metalloid because it exhibits some properties of

https://dl.doubtnut.com/l/_QyrT8Cm38IN7


both metals and non-metals. In the Modern

Periodic Table, a zig-zag line separates metals

from non-metals. The borderline elements -

boron, silicon, germanium, arsenic, antimony,

tellurium and polonium - are intermediate in

properties and are called metalloids or semi-

metals. 

(c) What are semi-metals or metalloids ?

View Text Solution

12. Answer question numbers  on the

basis of your understanding of the following

(a) − (d)

https://dl.doubtnut.com/l/_QyrT8Cm38IN7
https://dl.doubtnut.com/l/_gi5tNUogCZei


paragraph and related studied concepts. 

You will see that the atomic size increases down

the group. This is because new shells are being

added as we go down the group. This increases

the distance between the outermost electrons

and the nucleus so that the atomic size increases

in spite of the increase in nuclear charge. As we

can see, the metals like Na and Mg are towards

the left-hand side of the Periodic Table while the

non-metals like sulphur and chlorine are found

on the right-hand side. In the middle, we have

silicon, which is classified as a semi-metal or

metalloid because it exhibits some properties of

https://dl.doubtnut.com/l/_gi5tNUogCZei


Multiple Choice Questions

both metals and non-metals. In the Modern

Periodic Table, a zig-zag line separates metals

from non-metals. The borderline elements -

boron, silicon, germanium, arsenic, antimony,

tellurium and polonium - are intermediate in

properties and are called metalloids or semi-

metals. 

(d) Give some examples of metalloids.

View Text Solution

https://dl.doubtnut.com/l/_gi5tNUogCZei


1. Which of the following elements would lose an

electron easily ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Mg

Na

K

Ca

https://dl.doubtnut.com/l/_qNkIfpuvBg21


2. Which one of the following depict the correct

representation of atomic radius (r) of an atom ? 

A. (i) and (ii)

B. (ii) and (iii)

C. (iii) and (iv)

D. (i) and (iv)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_xKYKMGGJc29b


3. According to Mendeleev's Periodic Law, the

elements were arranged in the Periodic Table in

the order of

A. increasing atomic number

B. decreasing atomic number.

C. increasing atomic masses.

D. decreasing atomic masses.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_xKYKMGGJc29b
https://dl.doubtnut.com/l/_qIArQbGoTeVJ


4. Which of the following statement(s) about

Modem Periodic Table are incorrect ? 

(i) The elements in the Modern Periodic Table are

arranged on the basis of their decreasing atomic

number. 

(ii) The elements in the Modern Periodic Table

are arranged on the basis of their increasing

atomic masses. 

(iii) Isotopes are placed in adjoining group(s) in

the Periodic Table. 

(iv) The elements in the Modern Periodic Table

https://dl.doubtnut.com/l/_qIArQbGoTeVJ
https://dl.doubtnut.com/l/_oWIUqATkqMko


are arranged on the basis of their increasing

atomic number.

A. (i) only.

B. (i), (ii) and (iii)

C. (i), (ii) and (iv)

D. (iv) only.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_oWIUqATkqMko


5. The concept of triads in the elements was

given by

A. Newlands.

B. Dobereiner.

C. Mendeleev.

D. Bohr.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_KcUsj6w2gGU1


6. Upto which element, the Law of Octaves was

found to be applicable ?

A. Oxygen

B. Calcium

C. Cobalt

D. Potassium

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_vFWJ73oCU2Do


7. The elements A, B, C, D and E have atomic

number 9, 11, 17, 12 and 13 respectively. Which pair

of elements belong to the same group ?

A. A and B

B. B and D

C. A and C

D. D and E

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_kTduLdOumMKA
https://dl.doubtnut.com/l/_QmAxyjJmHj07


8. Which of the following statements is not a

correct statement about the trends when going

from left to right across the periods of Periodic

Table ?

A. The elements become less metallic in

nature

B. The number of valence electrons increases.

C. The atoms lose their electrons more easily.

D. The oxides become more acidic.

Answer: C

https://dl.doubtnut.com/l/_QmAxyjJmHj07


View Text Solution

9. Element X forms a chloride with formula 

, which is a solid with a high melting point. X

would most likely be in the same group of the

Periodic Table as

A. 

B. 

C. 

D. 

Answer: B

XCI2

Na

Mg

AI

Si

https://dl.doubtnut.com/l/_QmAxyjJmHj07
https://dl.doubtnut.com/l/_XSAM482GhLL5


View Text Solution

10. In Mendeleev's Periodic Table, gaps were left

for the elements to be discovered later. Which of

the following elements found a place in the

Periodic Table later ?

A. Germanium

B. Chlorine

C. Oxygen

D. Silicon

https://dl.doubtnut.com/l/_XSAM482GhLL5
https://dl.doubtnut.com/l/_SUs1kMJ1wwcb


Answer: A

View Text Solution

11. Which of the given elements A, B, C, D and E

with atomic number 2, 3, 7, 10 and 30 respectively

belong to the same period ?

A. 

B. 

C. 

D. 

A, B, C

B, C, D

A, D, E

B, D, E

https://dl.doubtnut.com/l/_SUs1kMJ1wwcb
https://dl.doubtnut.com/l/_KjxOdOMuauFB


Answer: B

View Text Solution

12. Which of the following is the outermost shell

for elements of period 2 ?

A. K shell

B. L shell

C. M shell

D. N shell

https://dl.doubtnut.com/l/_KjxOdOMuauFB
https://dl.doubtnut.com/l/_qlx2STETJG7z


Answer: B

View Text Solution

13. Where would you locate the element with

electronic configuration 2, 8 in the Modem

Periodic Table ?

A. Group 8

B. Group 2

C. Group 18

D. Group 10

https://dl.doubtnut.com/l/_qlx2STETJG7z
https://dl.doubtnut.com/l/_VWfQMOfbMq8f


Answer: C

View Text Solution

14. Which of the following statements about the

Modem Periodic Table is correct?

A. It has 18 horizontal rows known as Periods.

B. It has 7 vertical columns known as Periods.

C. It has 18 vertical columns known as Groups

D. It has 7 horizontal rows known as Groups.

https://dl.doubtnut.com/l/_VWfQMOfbMq8f
https://dl.doubtnut.com/l/_JcI000In6MaD


Answer: C

View Text Solution

15. Arrange the following elements in the order

of their increasing non-metallic character 

A. 

B. 

C. 

D. 

Li, O, C, Be, F

F < O < C < Be < Li

Li < Be < C < O < F

F < Be < C < O < Li

F < O < Be < C < Li

https://dl.doubtnut.com/l/_JcI000In6MaD
https://dl.doubtnut.com/l/_DcQMVCVnK1gB


Answer: B

View Text Solution

16. Three elements B, Si and Ge are

A. metals.

B. non-metals.

C. metalloids.

D. metal, non-metal and metalloid

respectively.

https://dl.doubtnut.com/l/_DcQMVCVnK1gB
https://dl.doubtnut.com/l/_kKswS9XLlhll


Answer: C

View Text Solution

17. Which one of the following elements exhibit

maximum number of valence electrons?

A. 

B. 

C. 

D. 

Na

AI

Si

P

https://dl.doubtnut.com/l/_kKswS9XLlhll
https://dl.doubtnut.com/l/_JS4IP4nOmIEF


Answer: D

View Text Solution

18. Which of the following are the characteristics

of isotopes of an element ? 

(i) Isotopes of an element have same atomic

masses. 

(ii) Isotopes of an element have same atomic

number. 

(iii) Isotopes of an element show same physical

properties. 

https://dl.doubtnut.com/l/_JS4IP4nOmIEF
https://dl.doubtnut.com/l/_96csERcskjHL


(iv) Isotopes of an element show same chemical

properties.

A. (i), (ii) and (iv)

B. (ii), (iii) and (iv)

C. (ii) and (iii)

D. (ii) and (iv)

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_96csERcskjHL


19. Which is not the limitation of Mendeleev's

classification ? Mendeleev's Table

A. does not satisfactorily explain the position

of hydrogen.

B. lists the elements in order of increasing

atomic masses.

C. does not explain how to place the isotopes

of an element in the periodic table.

D. does not predict how many elements could

be discovered between two elements.

https://dl.doubtnut.com/l/_Bs6XOONCZOnX


Answer: B

View Text Solution

20. The elements in Groups 1 and 17 in the third

period are

A. Na and F respectively.

B. K and F respectively.

C. Na and Cl respectively.

D. K and Cl respectively.

https://dl.doubtnut.com/l/_Bs6XOONCZOnX
https://dl.doubtnut.com/l/_wa9vl71D3L9u


Answer: C

View Text Solution

21. Law of Octaves was given by

A. Dalton.

B. Mendeleev.

C. Newland.

D. Moseley.

Answer: C

i l i

https://dl.doubtnut.com/l/_wa9vl71D3L9u
https://dl.doubtnut.com/l/_3NmH275ktZX8


View Text Solution

22. Chlorine occurs in the form of the following

isotopes.

A. Cl-35 and Cl-36

B. Cl-35 and Cl-37

C. Cl-34 and Cl-35

D. Cl-37 and Cl-39

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_3NmH275ktZX8
https://dl.doubtnut.com/l/_lMaSLqRNRqEG


23. Na and Mg

A. belong to the same group.

B. belong to the same period.

C. have the same atomic number.

D. both catch fire in the air.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_rKmINnuvkbRC


24. Maximum number of electrons that can be

accommodated in a shell is given by 

where n is the number of shell.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

n2

2n2

(n2 − 1)

2n3

https://dl.doubtnut.com/l/_Pq4lOOW3qQ9N


Fill In The Blanks One Mark Each

1. Elements in the Modern Periodic Table are

arranged in ____ vertical columns called _________.

View Text Solution

2. Non-metals are formed on the ____ of the

Periodic Table towards the ___ ______.

View Text Solution

https://dl.doubtnut.com/l/_wCAcrISP4kEV
https://dl.doubtnut.com/l/_UEPc9fLhuEGW


3. Down the group in the Periodic Table, the

effective nuclear charge experienced by valence

electrons ___ ___.

View Text Solution

4. Silicon is classified as ____ or ____ because it

exhibits some properties of both metals and

non-metals.

View Text Solution

https://dl.doubtnut.com/l/_BYpTrrkGnpj6
https://dl.doubtnut.com/l/_VM5MlNv9G4ff


5. Mendeleev's Periodic Law was modified and

____ was adopted as the basis of Modem Periodic

Table.

View Text Solution

6. Elements of the second period do not have the

same number of ____ but they contain the same

number of ____ .

View Text Solution

https://dl.doubtnut.com/l/_mujd0WXiPfHM
https://dl.doubtnut.com/l/_YYG2TjjLh3A6


True Or False

7. Metals tend to ____ electrons, that is, they are

____ in nature.

View Text Solution

8. Elements are classified on the basis of

similarities in their ____ .

View Text Solution

https://dl.doubtnut.com/l/_3wCPfAehaH29
https://dl.doubtnut.com/l/_LUZcbtciSg0u
https://dl.doubtnut.com/l/_6Kz6skYFqMa0


1. Valency of an element is determined by the

number of electrons present in the first shell.

View Text Solution

2. As we move from left to right in the Periodic

Table, the atoms lose the valence electrons more

easily.

View Text Solution

3. Non-metals tend to form bonds with other

atoms by gaining electrons.

https://dl.doubtnut.com/l/_6Kz6skYFqMa0
https://dl.doubtnut.com/l/_Zx9nHOdNGjtL
https://dl.doubtnut.com/l/_uvaHLDLJPn9B


View Text Solution

4. The elements Na, Mg, Al, Si, P, S, Cl and Ar

belong to the second period of the Periodic

Table.

View Text Solution

5. Elements in the Modem Periodic Table are

arranged in 17 vertical columns called groups.

View Text Solution

https://dl.doubtnut.com/l/_uvaHLDLJPn9B
https://dl.doubtnut.com/l/_311efTkDOs6U
https://dl.doubtnut.com/l/_uJ3APbnWOTIf


Assertion Reason Questions

6. In the Periodic Table, a straight line seperates

metals from non-metals.

View Text Solution

1. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : Atomic radius decreases in moving

from left to right in the Periodic Table. 

https://dl.doubtnut.com/l/_ZddZp1nDJDan
https://dl.doubtnut.com/l/_zb522uTduzqt


Reason (R ) : As we move from L.H.S. to R.H.S., the

nuclear charge increases which tends to pull the

electrons closer to the nucleus.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_zb522uTduzqt


View Text Solution

2. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : Position of an element in the

Periodic Table tells us about its chemical

reactivity. 

Reason (R ) : There are 18 elements in the fourth

table.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

https://dl.doubtnut.com/l/_zb522uTduzqt
https://dl.doubtnut.com/l/_FdXK6AklUOSR


B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: B

View Text Solution

3. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

https://dl.doubtnut.com/l/_FdXK6AklUOSR
https://dl.doubtnut.com/l/_s2saf5WsOFkh


Assertion (A) : Metalloids have properties

intermediate between the metals and non-

metals. 

Reason (R ) : Newlands gave the Law of Triads.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: C

https://dl.doubtnut.com/l/_s2saf5WsOFkh


View Text Solution

4. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : There are 18 elements in the sixth

period of Periodic Table. 

Reason (R ) : Modem Periodic Law was given by

Moseley.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

https://dl.doubtnut.com/l/_s2saf5WsOFkh
https://dl.doubtnut.com/l/_uRPkjEQWqMfI


B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: D

View Text Solution

5. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

https://dl.doubtnut.com/l/_uRPkjEQWqMfI
https://dl.doubtnut.com/l/_jSZbGsDxPMFv


Assertion (A) : Atomic size increases down the

group in the Periodic Table. 

Reason (R ) : New shells are being added as we

go down the group.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: A

https://dl.doubtnut.com/l/_jSZbGsDxPMFv


View Text Solution

6. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : Non-metals like sulphur and

chlorine are located on the left-hand side of the

Periodic Table. 

Reason (R ) : Atomic radius decreases in moving

from left to right in a period.

https://dl.doubtnut.com/l/_jSZbGsDxPMFv
https://dl.doubtnut.com/l/_bR7dDlJIYJsK


A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_bR7dDlJIYJsK


7. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : Metallic character increases down

the group. 

Reason (R ) : Elements in the Periodic Table are

arranged in six horizontal rows called periods.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

https://dl.doubtnut.com/l/_itF00ktn10YX


C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: C

View Text Solution

8. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : Boron, silicon and germanium are

metalloids. 

https://dl.doubtnut.com/l/_itF00ktn10YX
https://dl.doubtnut.com/l/_r1BQ8efGJh3A


Reason (R) : The position of an element in the

Periodic Table tells us about its reactivity.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_r1BQ8efGJh3A


9. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : There is an anomaly in the

position of hydrogen in the Periodic Table. 

Reason (R) : The elements Al, Si and P belong to

the fourth period in the Periodic Table.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

https://dl.doubtnut.com/l/_nVAeyXG12yDw


C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: C

View Text Solution

10. Note: Read the assertion and reason carefully

and then mark the correct option out of the

options given below: 

Assertion (A) : Moseley showed that atomic

number is a more fundamental property than

atomic mass. 

https://dl.doubtnut.com/l/_nVAeyXG12yDw
https://dl.doubtnut.com/l/_rRi2mgf8wMKt


Reason (R) : Atoms of the same element having

the same atomic number but different atomic

masses are called isotopes.

A. Both (A) and (R) are true and (R ) is correct

explanation of the assertion.

B. Both (A) and (R ) are true but (R ) is

explanation of the assertion.

C. (A) is true but (R ) is false.

D. (A) is false but (R ) is true.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_rRi2mgf8wMKt


Very Short Answer Questions

View Text Solution

1. Name three elements discovered after

Mendeleev gave his Periodic Table.

View Text Solution

2. State Periodic Law on which the Modem

Periodic Table is based.

View Text Solution

https://dl.doubtnut.com/l/_rRi2mgf8wMKt
https://dl.doubtnut.com/l/_tcyAtWbpYAIN
https://dl.doubtnut.com/l/_n6hn5GZtKFF6


3. What are the elements of Group 1 and Group

17 ?

View Text Solution

4. Which one has the bigger size ? 

Na (11) or Cl (17), Cl (17) or F (9)

View Text Solution

5. What is meant by 'groups' of Periodic Table ?

https://dl.doubtnut.com/l/_n6hn5GZtKFF6
https://dl.doubtnut.com/l/_byxhSRkZfMXf
https://dl.doubtnut.com/l/_13ZuJovescRw
https://dl.doubtnut.com/l/_LpX0DZPpM4rK


View Text Solution

6. An element B belongs to the second period

and Group 13. Give the formula of the oxide.

View Text Solution

7. A, B and C are elements of Dobereiner's triad. If

the atomic mass of A is 7 and that of C is 23,

what will be the atomic mass of B.

View Text Solution

https://dl.doubtnut.com/l/_LpX0DZPpM4rK
https://dl.doubtnut.com/l/_LmTeLR3JsPwA
https://dl.doubtnut.com/l/_Rc4hSjeiL1Ol


8. State Mendeleev's law.

View Text Solution

9. Mendeleev classified the elements on the basis

of two factors. What were these two factors?

View Text Solution

10. Classify the following elements into groups of

triads : 

Cl, Ca, Ba, Sr, K, Li, Br, I, Na

https://dl.doubtnut.com/l/_GWSfNJgEohDZ
https://dl.doubtnut.com/l/_pw2OPH67rbmM
https://dl.doubtnut.com/l/_SToPv8CsY4UB


View Text Solution

11. Elements A, B, C and D have atomic numbers 1,

8, 11 and 19 respectively. Choose the odd element

and give reasons for your answer.

View Text Solution

12. Size of sodium atom is bigger than that of

hydrogen atom. Why?

View Text Solution

https://dl.doubtnut.com/l/_SToPv8CsY4UB
https://dl.doubtnut.com/l/_zq0bXGoFmcmd
https://dl.doubtnut.com/l/_Qvk3NDNY6Xmn


13. Name the element which has twice as many

electrons in its second shell as in its first shell.

Write its electronic configuration also.

View Text Solution

14. What is meant by classification of elements ?

View Text Solution

15. Mention the common name given to the

following elements : 

https://dl.doubtnut.com/l/_TeQZQxBeFWJs
https://dl.doubtnut.com/l/_jgFBojoDR4q6
https://dl.doubtnut.com/l/_1tbpL0T9vSfD


Boron, Silicon, Germanium, Arsenic, Antimony. 

State one property that justifies their name.

View Text Solution

16. Write two reasons responsible for late

discovery of noble gases.

View Text Solution

17. Write the valency and usual number of

electrons of Group 18 of the Periodic Table.

Vi T t S l ti

https://dl.doubtnut.com/l/_1tbpL0T9vSfD
https://dl.doubtnut.com/l/_e1N1sdB3MTX2
https://dl.doubtnut.com/l/_U3KcOEyzjKkl


View Text Solution

18. How many horizontal rows are there in the

Modem Periodic Table and what are they called ?

View Text Solution

19. Write the formulae of chlorides of Eka-silicon

and Eka-aluminium, the elements predicted by

Mendeleev.

View Text Solution

https://dl.doubtnut.com/l/_U3KcOEyzjKkl
https://dl.doubtnut.com/l/_gOUcoEY1KyY4
https://dl.doubtnut.com/l/_mFxcwYuVNMoZ
https://dl.doubtnut.com/l/_2MqCDQwHoHWW


20. If an element X is placed in Group 14, what

will be the formula and the nature of bonding of

its chloride?

View Text Solution

21. State one reason for placing Mg and Ca in the

same group of Periodic Table.

View Text Solution

22. Why does silicon have valency 4 ?

https://dl.doubtnut.com/l/_2MqCDQwHoHWW
https://dl.doubtnut.com/l/_gynLR3xSpXAi
https://dl.doubtnut.com/l/_C50RPwQNplYH


View Text Solution

23. Can the following group of elements be

classified as Dobereiner's Triad ? 

View Text Solution

Na, Si, CI

24. Arrange the following elements in increasing

order of their atomic radii : 

View Text Solution

CI, At, Br, I

https://dl.doubtnut.com/l/_C50RPwQNplYH
https://dl.doubtnut.com/l/_ZSjFYWsPFmwU
https://dl.doubtnut.com/l/_bvCT1VGzEfxp


Short Answer Questions

1. Inert gases are placed in a separate group in

the Modem Periodic Table. 

(a) State the group number. 

(b) How many valence electrons do most of these

gases have? 

(c) Why are they unreactive? 

(d) Name any two inert gases.

View Text Solution

https://dl.doubtnut.com/l/_bvCT1VGzEfxp
https://dl.doubtnut.com/l/_YXtuHYIItkog
https://dl.doubtnut.com/l/_CNCuRlUlCqoD


2. (a) Write the name of any three elements

present in third period. 

(b) What will be the total number of shells in

each and name the valence shell of each. Write

configuration of all of these.

View Text Solution

3. The position of three elements A, B and C in

the Periodic Table are shown below : 

 


Giving reasons, explain the following : 

https://dl.doubtnut.com/l/_CNCuRlUlCqoD
https://dl.doubtnut.com/l/_KQh5a3Mz6G5V


(a) Element A is a non-metal. 

(b) Atom of element Chas a larger size than atom

of element A. 

(c) Element B has a valency of 1.

View Text Solution

4. valency of an element is determined by the

number of electrons present in the first shell. 

 


Giving reasons, explain the following : 

(a) Element A is a non-metal. 

https://dl.doubtnut.com/l/_KQh5a3Mz6G5V
https://dl.doubtnut.com/l/_KU3HxBBfzauC


(b) Element B has a larger atomic size than

element C. 

(c) Element Chas a valency of 1.

View Text Solution

5. Using the part of the Periodic Table given

below, answer the questions that follow : 

 


(i) Na has physical and chemical properties

similar to which element(s) and why? 

(ii) Write the electronic configuration of N and P.

https://dl.doubtnut.com/l/_KU3HxBBfzauC
https://dl.doubtnut.com/l/_GhdRggcjrNes


Which one of these will be more electronegative

and why? 

(iii) State a chemical property common to

fluorine and chlorine.

View Text Solution

6. The elements of the second period of the

Periodic Table are given below : 

Li Be B C N O F 

(a) Give reason to explain why atomic radii

decrease from Li to F. 

https://dl.doubtnut.com/l/_GhdRggcjrNes
https://dl.doubtnut.com/l/_AFp365R3WMpx


(b) Identify the most (i) metallic and (ii) non-

metallic element.

View Text Solution

7. The elements of the third period of the

Periodic Table are given below : 

 


(a) Which is more non-metallic, S or Cl? 

(b) Which has higher atomic mass, Al or Cl?

View Text Solution

https://dl.doubtnut.com/l/_AFp365R3WMpx
https://dl.doubtnut.com/l/_ZGAduN6V2il9
https://dl.doubtnut.com/l/_I2xWW7P42Ac3


8. Magnesium oxide is , magnesium

hydroxide is  and magnesium

sulphate is  What would be the formulae

of barium oxide, barium hydroxide and barium

sulphate if barium belongs to the same group, as

magnesium ?

View Text Solution

MgO

Mg(OH)2

MgSO4

9. Consider the following arrangement of

elements : 

https://dl.doubtnut.com/l/_I2xWW7P42Ac3
https://dl.doubtnut.com/l/_Z1k9yEx1pLAg


(a) Which is the most reactive metal? 

(b) Name the family of L, Q, R, T. 

(c) Name one element each from the Groups 2,

13, 15.

View Text Solution

1 2 13 14 15 16 17 18

Lithium Carbon Oxygen L Neon

X S G Q

Y R

Z T

10. Explain why atomic number is more

important than atomic mass in determining

chemical properties.

https://dl.doubtnut.com/l/_Z1k9yEx1pLAg
https://dl.doubtnut.com/l/_K2dsGf4FGXVj


View Text Solution

11. The elements of the second period of the

Periodic Table are given below : 

Li, Be, B, C, N, 0, F, Ne 

(a) Give reason to explain why atomic radius

decreases from Li to F. 

(b) Identify the most metallic and non-metallic

elements. 

(c) How does valency change from Li to Ne?

View Text Solution

https://dl.doubtnut.com/l/_K2dsGf4FGXVj
https://dl.doubtnut.com/l/_3Xs871Cmfnh5
https://dl.doubtnut.com/l/_67FU3Wjmc68f


12. An element A reacts with oxygen to form 

. 

(i) State the number of electrons in the

outermost orbit of A. 

(ii) To which group of the periodic table does A

belong? 

(iii) State whether A is a metal or a non-metal.

View Text Solution

A2O

13. Some of the elements and their atomic

numbers are given in the table. 

https://dl.doubtnut.com/l/_67FU3Wjmc68f
https://dl.doubtnut.com/l/_C70eXLH1scfY


(i) How many valence electrons are there in the

element R ? 

(ii) What is the valency of P? 

(iii) Write the chemical formula of the compound

formed by combining the elements P and Q. 

View Text Solution

14. Calcium, magnesium and strontium have

been put together in the same group of Periodic

Table on the basis of their similar chemical

https://dl.doubtnut.com/l/_C70eXLH1scfY
https://dl.doubtnut.com/l/_VXyxigra0wCS


properties. 

(i) Mention those properties. (Any two) 

(ii) Out of the three elements, which one will

have atoms of biggest size and why ? 

(iii) Which is the first member of this group ?

View Text Solution

15. Four elements P, Q, R and S have atomic

numbers 12, 13, 14 and 15 respectively. Answer the

following questions giving reasons : 

(i) What is the valency of Q ? 

(ii) Classify these elements as metals and non-

https://dl.doubtnut.com/l/_VXyxigra0wCS
https://dl.doubtnut.com/l/_C43k7LaEpot4


metals. 

(iii) Which of these elements will form the most

basic oxide?

View Text Solution

16. Give one example of each : 

(a) Metal having valency 2. 

(b) Non-metal having valency 2. 

(c) Element with three shells, having 4 electrons

in the outermost shell.

View Text Solution

https://dl.doubtnut.com/l/_C43k7LaEpot4
https://dl.doubtnut.com/l/_Y2NRVRYrKYIa


17. How do the following traits change in a

period from left to right in the periodic table : 

(a) Atomic size 

(b) Valency 

(c) Metallic character.

View Text Solution

18. Two elements 'X' and 'Y' belong to the second

group of the Periodic Table. 'X' has 2 shells and 'Y'

has 3 shells in it. 

(a) Which of these is more metallic in nature and

https://dl.doubtnut.com/l/_9CJw5LQP0Xhc
https://dl.doubtnut.com/l/_l54PgKrS98Dq


why? 

(b) What is the formula of the chloride of 'X' and

sulphide of 'Y' ? 

(c) Is the valency of 'X' same as that of 'Y' or

different? Why?

View Text Solution

19. How many groups and periods are there in

the modern Periodic Table ? How do the atomic

size and metallic character of elements vary as

we move : 

https://dl.doubtnut.com/l/_l54PgKrS98Dq
https://dl.doubtnut.com/l/_e8BVVin3zPYS


(a) down a group and (b) from left to right in a

period.

View Text Solution

20. From the following elements : 

 


(i) select the element having one electron in the

outermost shell. 

(ii) two elements of the same group. 

Write the formula of and mention the nature of

the compound formed by the union of  K and

element .

4Be, 9K, 20Ca

19

X(2, 8, 7)

https://dl.doubtnut.com/l/_e8BVVin3zPYS
https://dl.doubtnut.com/l/_4hPH4CZDqdUs


View Text Solution

21. An element 'M' with electronic configuration

(2, 8, 2) combines separately with

 radicals.

Write the formula of the three compounds so

formed. To which group and period of the

Modem Periodic Table does the element 'M'

belong ? Will 'M' form covalent or ionic

compounds ? Give reason to justify your answer.

View Text Solution

(NO3) − , (SO4)2 − and (PO4)3 −

https://dl.doubtnut.com/l/_4hPH4CZDqdUs
https://dl.doubtnut.com/l/_6Wcuq419hg0j
https://dl.doubtnut.com/l/_Y7lSB9LZAHms


22. Calcium is an element with atomic number

20. Stating reason answer each of the following

questions: 

(i) Is calcium a metal or non-metal ? 

(ii) Will its atomic radius be larger or smaller

than that of potassium with atomic number 19 ? 

(iii) Write the formula of its oxide.

View Text Solution

23. An element M has atomic number 12. 

(i) Write the electronic configuration and valency.

https://dl.doubtnut.com/l/_Y7lSB9LZAHms
https://dl.doubtnut.com/l/_kXyKxK40Ci2X


Long Answer Questions

(ii) Is M a metal or non-metal ? Give reason in

support of your answer. 

(iii) Write the formula and nature (acidic/basic)

of the oxide of M.

View Text Solution

1. (a) How many elements are known till date ? 

(b) List the triads that Dobereiner could identify?

(c) Which scientist believed that no more

elements will be discovered in future? 

https://dl.doubtnut.com/l/_kXyKxK40Ci2X
https://dl.doubtnut.com/l/_qapmzXM4xIrT


(d) What was the nationality of Mendeleev? In

which year was his Periodic Table published? 

(e) How many periods and groups are there in

the Modem Periodic Table?

View Text Solution

2. (a) Name first three members of Group 2 and

16. 

(b) Name any four metalloids. 

(c)' Which chemical properties were stressed by

Mendeleev while formulating his Periodic Table? 

(d) Write the following elements in order of

https://dl.doubtnut.com/l/_qapmzXM4xIrT
https://dl.doubtnut.com/l/_W3Qa7lJZm3bk


increasing atomic numbers : 

Magnesium, Lithium, Aluminium. 

(e) Give the electronic configuration of the

following elements: 

Carbon, Phosphorus, Chlorine.

View Text Solution

3. Atomic numbers of a few elements are given

below : 

10, 20, 7, 14 

(a) Identify the elements. 

(b) Identify the group number of these elements

https://dl.doubtnut.com/l/_W3Qa7lJZm3bk
https://dl.doubtnut.com/l/_yXnP6cuzsSR0


in the Periodic Table. 

(c) Identify the period of these elements in the

Periodic Table. 

(d) What would be the electronic configuration

for each of these elements ? 

(e) Determine the valency of these elements.

View Text Solution

4. (i) Why do we classify elements ? 

(ii) What are the two criteria used in the

development of Modern Periodic Table ? 

(iii) State the position of (a) metals (b) non-

https://dl.doubtnut.com/l/_yXnP6cuzsSR0
https://dl.doubtnut.com/l/_UFgokfufiKWl


metals and (c) metalloids in the Periodic Table. 

(iv) Would you place two isotopes of Cl-35 and Cl-

37 in different slots of the Periodic Table because

of their different atomic masses or in the same

slot because their chemical properties are same?

Justify your answer.

View Text Solution

5. An element is placed in 2nd Group and 3rd

period of Periodic Table, it burns in the presence

of oxygen to form basic oxide. 

(a) Identify the element. 

https://dl.doubtnut.com/l/_UFgokfufiKWl
https://dl.doubtnut.com/l/_ARFcpPE6x3yH


(b) Write the electronic configuration. 

(c) Write the balanced equation when it burns in

the presence of air. 

(d) Write a balanced equation when this oxide is

dissolved in water. 

(e) Draw the electron dot structure for the

formation of this oxide.

View Text Solution

6. Consider the following elements : 

 


Answer the following giving reasons : 

20A, 8B, 18C, 16D, 4E, 2F

https://dl.doubtnut.com/l/_ARFcpPE6x3yH
https://dl.doubtnut.com/l/_7vtiDDJyj6kN


Which of the above elements you would expect

to be 

(i) very stable. 

(ii) in Group 2 of the Periodic Table. 

(iii) in Group 16 of the Periodic Table. 

(iv) What type of bond will be formed when the

element A reacts with B? Explain.

View Text Solution

7. The atomic number of Cl is 17. On the basis of

this information, answer the questions that

follow: 

https://dl.doubtnut.com/l/_7vtiDDJyj6kN
https://dl.doubtnut.com/l/_aAXZCMr7QSzP


(a) Write the electronic configuration of Cl. 

(b) Find the valency. 

(c) To which group does it belong? 

(d) Identify the type of ion it will form. 

(e) Write down the formula of the compound it

forms with other elements.

View Text Solution

8. The atomic number of a is 17. On the basis of

this information, answer the questions that

follow : 

(a) Write the electronic configuration of Cl. 

https://dl.doubtnut.com/l/_aAXZCMr7QSzP
https://dl.doubtnut.com/l/_TpeSykQ3ywuW


(b) Find the valency. 

(c) To which group does it belong ? 

(d) Identify the type of ion it will form. 

(e) Write down the formula of the compound it

forms with other elements.

View Text Solution

9. (a) The modem Periodic Table has been evolved

through the early attempts of Dobereiner,

Newland and Mendeleev. List one advantage and

one limitation of all the three attempts.' 

(b) Name the scientist who first of all showed

https://dl.doubtnut.com/l/_TpeSykQ3ywuW
https://dl.doubtnut.com/l/_Q5aoi6IcTv2o


that atomic number of an element is a more

fundamental property than its atomic mass. 

(c) State Modem Periodic Law.

View Text Solution

https://dl.doubtnut.com/l/_Q5aoi6IcTv2o

